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CoBpemennas bpuranus
10 KJIACC

KOHTPOJIBHASA PABOTA 3A 1 IOJIYT'OJAUE

Cneundurkanus

1. HaznayeHue pabdoThI — OIICHUTH YPOBEHb PEUEBBIX U SI3LIKOBBIX YMEHUU I10
cTtpaHoBenenuto y ywammxcs 10 kmacca. Ilenp paboTbl — mpoBepuTh 3HAHUE
U3YYEHHOTO JIEKCHKO-TpaMMaTu4deckoro matepuana no CoppemenHon bpuranuu 3a
1 monmyrogme 10 kmacca u ymeHuwe ymnoTpeOisTh ero B KoHTekcre. Pabota
MPOBOJUTCS B MENAX TEKYIIErO KOHTPOIS JOCTIDKCHHSI OO0yJaronuMucs
MPEIMETHBIX PE3YyJIbTATOB B 00JACTH CTPAHOBEICHUS CTPAHBI H3y4aeMOTO SI3bIKA.

2. CTpyKTypa M coaepxaHue padoThbl.

PaGora coctouT u3 HOBYX pa3iesioB, BKJIIOYAOIIMX B ce0s 25 3agaHuid,
HaIpaBJIEHHBIX HA BbISBJICHUE IOHUMAaHUS JIEKCUKUA CTPAHOBEIUYECKOr0 XapaKTepa,
NpoiiIeHHOM B nepBoM nonyroauu 10 kmacca.

Paznen 1 Bkirouaet TecTOBBIC 3aaHNUS.

Paznen 2 BkiroyaeT NMCbMEHHBIE OTBETHI HA BOIIPOCHI.

Kontponbhas pabora paccuntana Ha 40 MUHYT.

3. Kpurepumn oueHuBaHus.

3a BepHOE BBINIOJIHEHUE KXk 1010 3a1anus ¢ 1 mo 20 - 1 6am.
3a BepHOE BbINOJIHEHUE 3a1aHus 21 u 25- no 3 Gama.

3a HeBepHBIN OTBET WK ero oTcyTcTBUE () 6aIoB.
MakcumanbHasi cymMma 0ajuioB 3a padboty - 35.

Crenens chopmupoBanHocT Y /| Pesynbrar

0-15 GamnoB He ocBoun

16-35 Oamios Ocsownn




COBPEMEHHA{ BPUTAHUA
JleMOHCTpalMOHHBIN BapHAaHT KOHTPOJIBHON paboThI 3a 1 momyroaue
I. Answer the following questions:
1. Where is the highest part of England?
a) in the North
b) in the east
¢) in the West
d) in the South

2. Where is the port of London situated?
a) on the Soveren

b) on the Thames

c) on the Tyne

d) on the Mersey

3. The symbol of Scotland is:
a) a thistle
b) arose

¢) a shamrock

d) a daffodil

4. The Cumbrians occupy most of
a) Scotland

b) England

c) Wales

d) Northern Ireland

5. What language is spoken in Wales?
a) English
b) Welsh



ago.

c) Celtic
d) Scottish Gaelic

6. What country borders on Northern Ireland?

a) a thistle b) a rose
¢) a shamrock

d) a daffodil

7. Northern Ireland is mostly  district.
a) a n agrarian

b) an economical

c) a developing

d) a highly developed

8. Walesis .
a) a peninsula

b) an island

¢) a continent

d) a archipelago

9. The animal life of Great Britain is much

a) richer
b) poorer
c) the same

d) more comfortable

10.The British Isles are .

a) England, Scotland, Wales and Northern Ireland.

b) England, Scotland and Wales.

than it was a few centuries



c¢) England, Scotland, Wales and Ireland.
d) Northern Ireland and Ireland.

11. The longest river of the UK is
a) the Mersey
b) the Thames
¢) the Soveren

d) the Tyne

12. The Hebrides is a group of islands off
a) western coast of England.

b) the north — western coast of Scotland

c¢) northern coast of Scotland

d) southern coast of England.

13. In what country of Great Britain are Glasgow and Edinburgh situated?
a) in England

b) in Wales ¢) in Scotland

d) in Northern Ireland.

14. The Pennines are the backbone of

a) Scotland

b) England ¢) Wales d) Northern Ireland 15. The Grampian Mountains are
located in

a) in Scotland

b) in Wales

c¢) in England

d) in Northern Ireland

16. The British Isles receive rain



a) in winter
b) at any time of the year
) in summer

d) in autumn

17. The Tyne and the Trent flowing from the eastern slopes of the Pennines
empty into

a) the Atlantic ocean

b) the North Sea

c¢) the English Channel

d) the Irish Sea

18. Wales densely populated.
a)is
b) has never been

c) has always been

19. The symbol of Northern Irelandis
a) a rose

b) a daffodil

c) a thistle

d) a shamrock

20.The territory of the UK of Great Britain and Northern Ireland is historically
divided into parts.

a) three

b) five

c) four

d) two



II. Answer the questions

21. Where is the United Kingdom of Great Britain and Northern Ireland
situated?

22. Which waters separate the British Isles from the continent of Europe?

23. What islands do the British Isles consist of?

24. What parts is the territory of the UK historically divided into?

25. What is the total area of the UK?



